[image: image1.png]1 a Trueorfalse? i —2€Z* ii =eQ

b Show that 0.5T is a rational number.
¢ Write in interval notation: - L

d Sketch the number set {z |z <3 or z>7,z€R}.

2 Tllustrate these numbers on a Venn diagram like the
one shown:

-1,v2,2,3.1, 1,42

~v
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[image: image2.png]3 Show this information on a Venn diagram:

a U={10,11,12,13, 14, 15}, A={10,12, 14}, B={l1,12 13}

b U = {quadrilaterals}, S = {squares}, R = {rectangles}

¢ U =N, A= {multiples of 2}, B = {multiples of 3}, C = {multiples of 4}.
4 1If A is the set of all factors of 24 and B is the set of all factors of 18, find:

a ANB b AUB

5 Suppose U= {z |z <10, z € Z*}, A= {primes less than 10}, and
B = {odd numbers between 0 and 10}.

a Show these sets on a Venn diagram.

b List: iA ii ANB

¢ True or false? i ACB ii ANBCA

d Find: i n(4) il n(B') iii n(AUB).




[image: image3.png]6 On separate Venn diagrams like the one shown, shade the region
representing:
a B b inAandin B ¢ (AUB)





[image: image4.png]Using separate Venn diagrams like the one shown,
shade regions to verify that
(ANB)UC = (AUC)N(BUC).




[image: image5.png]8 A survey was conducted with 120 students in a school to see how many students were members
of extra-curricular clubs. The following results were recorded for the jazz band, drama club and
rowing team.

10 students were not members of any of the three clubs;
50 were members of the jazz band;
50 were members of the drama club;
50 were members of the rowing team;
15 were members of the jazz band and drama club;
10 were members of the drama club and rowing team;
20 were members of the jazz band and rowing team.
Draw a Venn diagram and use it to find how many students were members of all three clubs.
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11

12

Joe owns an automotive garage which does car services and mechanical repairs. In one week 18 cars
had services or repairs, 9 had services, and 5 had both services and repairs. How many cars had repairs?

All the guests at a barbecue ate either sausages or chicken shashliks. 18 people ate sausages, 15 ate
sausages and chicken shashliks, and 24 ate exactly one of sausages or chicken shashliks. How many
guests attended the barbecue?

At a dance school each member studies at least one of classical ballet or modern dance. 72% study
classical ballet and 35% study modem dance. What percentage of the students study both classical
ballet and modern dance?

A group of 28 workers are repairing a road. 9 use machinery, 15 do not use shovels, and 7 do not
use either machinery or shovels. How many workers use both machinery and shovels?




[image: image7.png]13 In a small country town there are three restaurants. 42% of the population eat at A, 45% at B, and
41% at C; 15% eat at both A and B, 9% at A and C, and 17% at B and C; 4% eat at all
three restaurants. Display this information on a Venn diagram, and hence find the percentage of the
population who eat at:

a none of the restaurants b at least one of the restaurants
¢ exactly one of the restaurants d either A or B e C only.
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